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$UVLWHNWXU� EHUWXPEXK� DGDODK� NRQVHS� \DQJ� GLNHPEDQJNDQ� ROHK�

$OHMDQGUR� $UDYHQD� VHEDJDL� SHQGHNDWDQ� GHVDLQ� \DQJ� GLWXMXNDQ� XQWXN�

PHPEDQJXQ�NHPEDOL�GDHUDK�NXPXK�GL�SXVDW�NRWD��7HRUL�LQL�PHQ\DWDNDQ�EDKZD�

NHWLND�PHPEXDW�SHUXPDKDQ�\DQJ�WHUMDQJNDX��DUVLWHN�KDUXV�PHQJDQJJDS�SUR\HN�

WHUVHEXW� VHEDJDL� PHPEDQJXQ� VHWHQJDK� GDUL� UXPDK� \DQJ� EDLN�� EXNDQ� UXPDK�

NHFLO��,QL�PHPXQJNLQNDQ�SHQJKXQL�EDQJXQDQ�XQWXN�PHPSHUOXDV�UXPDK�VHFDUD�

PDQGLUL� 'L�NRWD�EHUNHPEDQJ��SHUPXNLPDQ�NXPXK�GDQ�LQIRUPDO�DGDODK�PDVDODK�

EHVDU�� .DUHQD� XUEDQLVDVL� \DQJ� FHSDW�� SHUPXNLPDQ� NXPXK� WHODK� PHQLQJNDW�

VHFDUD� GUDPDWLV�� 3HUXPDKDQ� UDN\DW� KDUXV� PDPSX� PHQ\HOHVDLNDQ� NULVLV�

SHUXPDKDQ� GL� NRWD�NRWD�� 3UR\HN� SHUXPDKDQ� SXEOLN� \DQJ� WHSDW� KDUXV� WHUOHWDN�

GHQJDQ�EDLN�� WHUMDQJNDX��GDQ�PHPLOLNL�NHPDPSXDQ�XQWXN�EHUWXPEXK��'DODP�

KDO�PHPEDQJXQ�SHUXPDKDQ�XPXP�GL�SXVDW�NRWD�-DNDUWD��WLQJNDW�NHSDGDWDQ�\DQJ�

WLQJJL� KDUXV� GLFDSDL� XQWXN� PHQMDJD� DJDU� SUR\HN� WHWDS� WHUMDQJNDX�� 7LSRORJL�

SHUXPDKDQ�XPXP�EHUWLQJNDW�WLQJJL�GL�-DNDUWD�KDUXV�GLUDQFDQJ�XODQJ�DJDU�VHVXDL�

GHQJDQ�NULWHULD�SHUXPDKDQ�SXEOLN� \DQJ� WHSDW��0RGXODULWDV�GDQ�NHEHUODQMXWDQ�

MXJD�PHQMDGL�SHUWLPEDQJDQ�GHVDLQ�XQWXN�PHPEXDW�EDQJXQDQ�WHUMDQJNDX�GDODP�

MDQJND�SDQMDQJ��3UR\HN�SHUXPDKDQ�SXEOLN�\DQJ�VXNVHV�PHPEHUL�WHPSDW�WLQJJDO�

NXDOLWDV�KLGXS�\DQJ�OHELK�WLQJJL�GDQ�GDSDW�PHQJXUDQJL�SHQ\HEDUDQ�SHUNRWDDQ��

$VSHN� SHUWXPEXKDQ� PHPXQJNLQNDQ� SHUXPDKDQ� XQWXN� PHQFDSDL� VWDQGDU�

SHQGDSDWDQ�PHQHQJDK�VHLULQJ�ZDNWX�

.DWD� .XQFL�� � 3HUXPDKDQ� 8PXP�� $UVLWHNWXU� %HUWXPEXK�� 'DHUDK� .XPXK��
%DQJXQDQ�7LQJJL�


